STXR
VTN 772727

b M X

ok

HE2—F K 28085 - K28090

g =X FDCS—501-FDCSA—-501

- BBan CIEXDERIE, I EKZE TEB/T Y,
- FFRPERD—BRICIE, & -ty MEFTEDADDREAHY FT

AF-REEI\=4L




1T

=

RO EXIZONT

HERHOEBERICOINT

1.

P

.
hya
H

Gt

i OB, TR A A JhEiE < 72

%?:ﬂ;o
o

B o

3

B

aE

[

= T3

Bo o W

BN
B odn

o o

B

X (SR (TR LOARK

DR — L7 L — MZFRLTNET,

2. Mo [z, UFozexgLT
B0 ET,

Hvane adEh T 5K
PAEUHE 2 12 XY B2 D ER .
-7 vea et Ensigsmc. i

T ILBERS L 22w i,

Z OB ORHE FHER L O B AR (IR 1%,
HETHU % IFTT, 2L, HEEERN
ThH-oTH, BRSOV a2 2
FIRRSE TV HZELH D £77,

FHEER S O BEE LR RIS I EFE O G AR RR
THT LETH, HEFEREEEZ TH->TH,
LS O ZERE R B o T AIEE B & Ol
FAZOWT TR SE W E £,




FDCS-501+FDCSA-501
JL— L

No.| &% TR FRAE &% |[ No. i i e BRig
1 | E2925-100| 2L —Ls 1|[BT-1| E2010-120 | )L M20 X 150 (SW,N)
2 |E2925-503 [k HE L 1|[BT-2]| E2010-033 [R)L M14 x 50(P2)(PW)
3 |E2625-101 > FEY 10mm 3
4 | E2925-201 |RbwiX R 1
E2925-202 [ R ks L 1
5 | E2700-032 |[A—JLEY 13 % 35 2
6 | E2700-034|O—JLE> 8 % 35 2
7 | E2802-020 | R T4 2
8 | E2888-002|@ 7)Y vk |C-2 1
9 | E2888-003 |m7 2o v IhhS— 2
10 | E2925-509 | R &K 1
11 [ E2888-010|/S( TE > 10 x 60 1




FDCS-501-FDCSA-501
TA 75

No mE i TR FRAE &%k [ No. R i e g 1
1 | E2925-514 |5 T ILTL—bk 2 ||BT-1|E2010-077 |RJL+ M16 % 150 (SW,N) 15
2 |E2925-112|F 42 TL—k 3 ||BT-2| E2010-068 [ JL M16 % 70 (SW,N) 5
3 |E2925-111 |+ 47T S5 vk 5 ||BT-3| E2010-040 |;&{+& &KL [M14 x65(SW,N) 5
4 |E2925-002|+17 5 ||BT-4| E2010-027 |MA )L+ M12 % 65(SW,N) 5
5 [ E2925-013|F % FDCS 5 ||BT-5| E2010-028 | ML+ M12 X 100 (SW,N) 5
6 | E2925-016 | F % FDCSA 5




FDCS-501
HdOo—S5—Ei

No mE i TR FRAE &%k [ No. i i e g %
1 | E2925-250|O—5—7— L 2 ||BT-1|E2010-173|RIJLk M16 X 90 (SW) 4
2 |E2925-125|7—LTL—k 27% 2 ||BT-2| E2010-018 [ JL M12 x 45(SW,PW,N) 4
3 |E2925-210(O—5—DL— L 1|[BT-3| E2010-023 [#R)L+ M12 X 55 (SW,PW,N) 4
4 |E2925-515(R71o 4 206 2 ||BT-4| E2010-073 |7RJL+ M16 x 90 (SW,N) 2
5 [ E2925-131 |##s& L —b 2||BT-5|E2010-078 |7RJL I+ M16 % 160 (SW,N) 4
6 [E2925-120|h30—5— 1|[BT-6| E2010-074 |R)L M16 X 100 (SW,N) 2
7 |E2925-514 |5 JILTL—F 2
8 | E2700-054 [O—)LE Y 6 % 35 2
9 [E2925-114|7—LT 3459k |7—Lh5—BEE 2
10 | E2925-115 |54y TFL—F 2
11 | E2925-506 | tzvkE > 2
12 | E2625-100 |J>FEY 6mm 2




FDCSA-501
HdOo—S5—Ei

No mE i TR FRAE &%k [ No. i i e g 1
1 | E2925-251 |@—5—7— L 2 ||BT-1|E2010-173|RIJLk M16 X 90 (SW) 4
2 |E2925-125|7—LTL—k 27% 2 ||BT-2| E2010-056 [ JL M16 x 50 (SW,PW,N) 4
3 |E2925-211 [O—5—DL— L 1|[BT-3| E2010-060 [#RJL M16 X 60 (SW,PW,N) 4
4 |E2925-517 [R7VYL4 306 2 ||BT-4| E2010-073 |7RJL+ M16 x 90 (SW,N) 2
5 [ E2925-132 |#Hs& L —b 2||BT-5|E2010-078 |7RJL I+ M16 % 160 (SW,N) 4
6 [ E2925-401 |h30—5— 1|[BT-6| E2010-074 |R)L M16 X 100 (SW,N) 2
7 |E2925-514 |5 JILTL—F 2
8 | E2700-054 [O—)LE Y 6 % 35 2
9 [E2925-114|7—LT 3459k |7—Lh5—BEE 2
10 | E2925-115 |54y TFL—F 2
11 | E2925-506 | tzvkE > 2
12 | E2625-100 |J>FEY 6mm 2







S—060116A

p. 3 #t  066-8555 FmmLRE#E106 1&FHM2
TEL 0123—26—1123
FAX 0123—26—2412
¥ FF 066-8555 FEMmLR#1061FEM2
TEL 0123—22—5131
FAX 0123—26—2035
B I B ¥ Fr 070-8004 JEJIFMEA4ELOTHIEIGE
TEL 0166—61—6131
FAX 0166—62—8985
¥ AT 098-4100 XIEMELEEIFEHAORY 119 1FH4 4
TEL 0162—82—1932
FAX 0162—82—1696
¥ Fr 080-2462 #ELhE22%dt1TE12%M4
TEL 0155—37—3080
FAX 0155—37—5187
hiEEEER  086-1152 4ZEEPIZEATdAT2 TE165&2
TEL 0153—72—2624
FAX 0153—73—2540
ETE R 0283172 mxprammBalELEmE 1 1181 2053
TEL 0198—46—1311
FAX 0198—-—45—-—59909
BEEBHA 020173 EFEEFIERMAERFRERSS52—3
TEL 019—694—1661
FAX 019—694—1662
il & E XM 983-0013 EWEMEHEHBRPHFHE179—1
TEL 022—388—8673
FAX 022—388—8735
LB ¥ RT 323-0158  HFEARE/MUTHRE2512—1
TEL 0285—49—1500
FAX 0285—49—-—1560
ZLEEEZEF 480-0102 ZBHMEAPMKERAFTSHFTREES19 1
TEL 0587 —93—6888
FAX 0587—93—5416
[ %P 700-0973 MLERLTFHFEHE704—103
TEL 086—243—1147
FAX 086—243—1269
RE A B EFRT 861-0039 HEABEATREEEITH2E 1S
TEL 096—381—7222
FAX 096—384—3525
# W OE ¥ PT 885-1202 EREMMHEHETEES1003—2
TEL 0986—53—2222
FAX 0986—-—53—2233

HE:
Hol
Ik

E
ot
Tk

D.18.01.1S &



